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<KHAH>

Za a1 == B R R R R R S KAHET-1
THEE (M FE) ¢« 0 e e e e e e e e e e e e e e e e e K HHET-4
I T T S A HT-7
A T I R I KHAHBET-11
e e
== PG
FFFJ T A e e e e e e e e e e e e e e e e e e e e e

(RABF K B R =it DIE E FFFR)
(RATG K E R 1=t D5 EAERR)



BR[| RIETE | HUKRE | DENRRE -1 RHREIETREBHEERC
=it & oA i (min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s) BodktE | C |mifikn) R
B3 K5 FWL 112.0|(m) 0| 469.82 13.7 4835 T=ihity 70 | 0.02200 RS2 fii ) P33
LU EL 94.6((m) 1| 383.13 136 396.7 i 290 | 0.57000
T8t KR : H=FWL-EL 17.4{(m) 2| 31244 134 325.9 KH 100
#BrkE:V 138,200{(m3) 3| 25479 133 268.1 B 200
BRAji &(Costa): Qp 469.82|(m3/s)  |Qp=325(H-V)** 4 20777 13.1 2209 e 70
FRSER:A 0.59200 [km2 5| 16944 13.0 1824 0.59200
EKEE A2 0.02200|km2 6| 138.17 129 151.0 282
r=a/(t"+b) 7| 11268 127 1254
ERARSRAR BE 8 91.89 12.6 104.5 f [ %
RERISREE R n 0.687 9 74.93 124 874 ity 1.00 | 0.0220 BT P33
B a 2541.05 10 61.11 12.3 734 ikt 0.80 | 0.5700
BErsaEEb 9.34 1" 4983 12.1 62.0 KH 0.75 | 0.0000
P —— sala ig;g;lz?;oé‘fﬁ 12| 4064 12,0 526 M 053 | 0.0000
LAS 13 33.14 1.9 45.0 it 085 | 0.0000
RERERRM :tc 53| % f&%@?igé%rign 1 2702 17 %87 il 05920
HYYIET 15 2204 11.6 336 0.81
| ZE RN OBRRMAE 103.1|(mm/h) 16 17.97 114 294
HKREE—D:Q 137|(m3/s)  [1/36+f-r-A 17 14.66 11.3 260 -2 HKEERR
EREHUKRE1.2Q 16.44|(m3/s) 18 11.95 1.2 23.1 EROIEHM| GAFRE | AHEFRE g5 |PUKELER
19 9.75 1.0 208 %) r(mm/h) |resfermm/m)|  "© to(min) " e
20 7.95 10.9 188 1 530 103.1 83.51 0.213 5352 102.7 0.4
21 6.48 10.7 172 2| 531 103.1 83.51 0.213 5352 102.7 04
22 5.29 106 15.9 3| 532 103.0 83.43 0.213 5352 102.7 03
23 431 104 148 4| 533 102.9 83.35 0.213 5352 102.7 0.2
24 351 10.3 138 5 534 102.8 83.27 0.213 5352 102.7 0.1
25 287 10.2 130 6| 535 102.7 83.19 0.213 5352 102.7 0.0
26 234 10.0 124 7| 536 102.6 83.11 0.213 5352 102.7 -0.1
27 1.91 9.9 138 8| 537 1026 83.11 0.213 5352 102.7 -0.1
28 1.55 9.7 1.3 9| 538 1025 83.03 0.213 5352 102.7 -0.2
29 1.27 9.6 10.9 10| 539 1024 82.94 0.213 5352 102.7 -03
30 1.03 95 105 11 54.0 102.3 82.86 0.213 5352 102.7 -04
31 084 9.3 10.2
32 0.69 9.2 9.9 =-3 HOKRE: AIAEFER
33 0.56 90 96 t r In Q
34 046 89 9.3 ) (min) (mm/h) " (mm/h) (m3/s)
35 0.37 87 9.1 1 53.0 103.1 103.1 103.1 137
36 0.30 86 89 2| 1060 748 1496 465 62
37 0.25 85 87 3| 1590 60.7 182.1 325 43
38 0.20 83 85 4| 2120 519 207.6 255 34
39 0.16 8.2 83 5| 2650 45.7 2285 209 28
40 0.13 8.0 82 6| 3180 412 247.2 18.7 25
4 0.11 79 80 7| 3710 376 263.2 16.0 2.1
42 0.09 7.8 78 3><()q‘
43 0.07 7.6 77 7 )
44 0.06 75 75 (P
45 005 73 74 =
46 0.04 72 72 f—ﬂ/
47 0.03 7.0 74 )\\i
48 0.03 6.9 6.9 A\
9] o002 68 68 &5/
N/,
50 002 6.6 66 ==
51 001 6.5 65 3
52 0.01 6.3 6.4
53 0.01 62 6.2
54 0.01 6.1 6.1 e
55 0.01 59 59 2,200m2
56 0.01 58 58
57 0.00 56 5.6

KAWT-1










B | RIERE|BEKRE|LEXNZRE
=& =/ wE (min) | Q1(m3/s)[ Q2(m3/s)|Q1+Q2(m3/s),
B K AL FWL 123.1(m) o 47831 15.2 4935
LS EL 108.5|(m) 1| 404.81 15.0 419.9
=8t KR : H=FWL-EL 14.6|(m) 2| 34260 14.9 357.5
HETKE:V 172,000{(m3) 3| 289.95 14.7 304.7
BAFRHE(Costa):Qp|  478.31[(m3/s)  |Qp=325(H-V)** 4| 24539 14.6 260.0
EERE:A 0.66500 [km2 5| 207.68 14.4 222.1
FEKERE:A2 0.02500[km2 6| 17576 14.3 190.0
r=a/(t"+b) 7| 14875 14.1 162.9
EARE AR BE 8| 12589 14.0 139.9
EREER N 0.687 9] 106.55 138 120.4
RS ERa 2541.05 10 90.17 13.7 103.8
R E b 9.34 11 76.32 135 89.8
DRI R 55(4 F Ay 12| 6459 134 780

LAA 13 54.66 13.2 67.9

RIEEIZESR 1o 55|45 gk ARt by 14 4626] 131 293
BT 15 39.15 12.9 52.1

BERRIN OB RRAE v 101.5((mm/h) 16 33.14 12.8 459
BAKREE—Y:Q 15.2|(m3/s)  [1/3.6-f-r-A 17 28.04 12.6 40.6
BRETIKTREN.2Q 18.24((m3/s) 18 23.73 12.5 36.2
19 20.09 12.3 324

20 17.00 121 29.1

EES/KEIE A=66.
=8Otk EEE A=2.5ha (BT @REHA)

N
~ W

/ [’,
5ha

I EFE A=66.5-2.5=64.0ha

F-1 FHFREFEREEEELC
ER:LI2NN C  |ifif(km2), i #
Tt 70 | 0.02500 AR 0 P33
IR0} 290 | 0.64000
K H 100
Bt 200
EHl 70
&t 0.66500
i Y1) 282
FHEDIRE f i fii &
Tt 1.00 | 0.0250 BEHES 7o i) P33
it 0.80 | 0.6400
K H 0.75 | 0.0000
Bl 0.53 | 0.0000
Eh 0.85 [ 0.0000
ot 0.6650
af HL 1) 0.81

F-2 HOKEERME

KA1

RECEENRE RERE | AUEERE oz | UKEIERR ~
5 ri(mm/h)  [re=fr,(mm/h) re tc(min) & n
1 55.0 101.5 82.22 0.214 55.17 101.4 0.1
2 55.1 101.4 82.13 0.214 55.17 101.4 0.0
3 55.2 101.4 82.13 0.214 55.17 101.4 0.0
4 55.3 101.3 82.05 0.214 55.17 101.4 -0.1
5 55.4 101.2 81.97 0.214 55.17 101.4 -0.2
6 55.5 101.1 81.89 0.214 55.17 101.4 -0.3
7 55.6 101.0 81.81 0.214 55.17 101.4 -04
8 55.7 101.0 81.81 0.214 55.17 101.4 -04
9 55.8 100.9 81.73 0.214 55.17 101.4 -0.5
10 55.9 100.8 81.65 0.214 55.17 101.4 -0.6
11 56.0 100.7 81.57 0.214 55.17 101.4 -0.7
=-3 HKRE AIHEFE
t r In Q
" (min) (mm/h) mr (mm/h) (m3/s)
1 55.0 101.5 101.5 101.5 15.2
2 110.0 734 146.8 453 6.8
3 165.0 59.5 1785 31.7 4.7
4 220.0 50.8 203.2 247 3.7
5 275.0 448 2240 20.8 3.1
6 330.0 40.3 2418 17.8 2.7
7 385.0 36.8 257.6 158 24
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B | RIERE|BEKRE|LEXNZRE

-6 ith & F BE wE (min) | Q1(m3/s)[ Q2(m3/s)|Q1+Q2(m3/s),
B K AL FWL 69.5/(m) o 107.85 12.4 114.4
LS EL 65.1|(m) 1 72.76 12.3 79.2
=603tk - H=FWL-EL 4.4|(m) 2 49.08 121 55.5
HETKE:V 16,440((m3) 3 33.11 12.0 39.4
BAFRHE(Costa):Qp|  107.85((m3/s)  |Qp=325(H-V)** 4 22.34 1.9 28.6
EERE:A 0.54800 [km2 5 15.07 1.8 21.3
KT : A2 0.00350[km2 6 10.17 116 16.3
r=a/(t"+b) 7 6.86 15 13.0
EARE AR BE 8 463 11.4 10.7
EREER N 0.687 9 3.12 1.2 9.1
RS ERa 2541.05 10 2.1 1.1 8.0
R E b 9.34 11 1.42 1.0 73
AR R R 53|45 F Ay 12| 0%] 109 68
LAA 13 0.65 10.7 6.4

REEER to 534 s e 14 o044 106 02
BT 15 0.29 105 5.9

BERRIN OB RRAE v 103.1|(mm/h) 16 0.20 103 58
HKFREE—Y:Q 12.4|(m3/s)  [1/36-fr-A 17 0.13 10.2 5.7
BRETIKTREN.2Q 14.88((m3/s) 18 0.09 10.1 5.6
19 0.06 100 55

20 0.04 9.8 5.4

BE. 7T AR =8 hEH R R 21 0.03 9.7 53

22 0.02 9.6 5.3

23 0.01 9.4 5.2

24 0.01 9.3 5.2

25 0.01 9.2 5.1

26 0.00 9.1 5.0

- C\ ~ s i ﬁ
(C) Bt #h3Efz SIP4 (C)CORE CORP. (C) m=HFHk#E

DEREFERSFTARRAOEKRELZELSIVTHE

=1 RHGRBrERESEELRC
ER:LI2NN C | fif(km2) fii &
Tt 70 | 0.00424 AR i i) P33
IR0} 290 | 0.52176
K H 100
Bt 200 | 0.02200
EHl 70
&t 0.54800
i Y1) 285
SR INN f i fii &
Tt 1.00 | 0.0042 BAHES 7o () P33
it 0.80 [ 0.5218
K H 0.75 | 0.0000
Bl 0.53 | 0.0220
B 0.85 [ 0.0000
ot 0.5480
af HL 1) 0.79

-2 HOKEIERE

KAWBT-7

REOEEHME| AMRE |(AYRRHRE 05 HOKEBER R B
(%) ry(mm/h) re=f+r,(mm/h) re tc(min) & e
1 530 103.1 81.45 0.214 53.43 102.8 0.3
2 53.1 103.1 81.45 0.214 53.43 102.8 0.3
3 53.2 103.0 81.37 0.214 53.43 102.8 0.2
4 53.3 102.9 81.29 0.215 53.68 102.6 0.3
5 534 102.8 81.21 0.215 53.68 102.6 0.2
6 535 102.7 81.13 0.215 53.68 102.6 0.1
7 53.6 102.6 81.05 0.215 53.68 102.6 0.0
8 53.7 102.6 81.05 0.215 53.68 102.6 0.0
9 53.8 102.5 80.98 0.215 53.68 102.6 -0.1
10 53.9 1024 80.90 0.215 53.68 102.6 -0.2
11 540 102.3 80.82 0.215 53.68 102.6 -0.3
=-3 HKRE AIHEFE
t r In Q
" (min) (mm/h) " (mm/h) (m3/s)
1 530 103.1 103.1 103.1 124
2 106.0 748 149.6 46.5 5.6
3 159.0 60.7 182.1 325 3.9
4 2120 51.9 207.6 255 3.1
5 265.0 45.7 228.5 20.9 25
6 318.0 41.2 247.2 18.7 22
7 371.0 37.6 263.2 16.0 1.9
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B | RIERE|BEKRE|LEXNZRE
=& =B/TF wE (min)  |Q1(m3/s)| Q2(m3/s)[Q1+Q2(m3/s)
B K AL FWL 73.6/(m) o 15953 1.2 160.7
LS EL 64.9|(m) 1| 101.39 12 102.6
=8t KR : H=FWL-EL 8.7|(m) 2 64.44 12 65.6
HETKE:V 21,120|(m3) 3 40.96 1.1 421
BAFRHE(Costa):Qp|  159.53[(m3/s)  |Qp=325(H-V)** 4 26.03 1.1 27.2
EERE:A 0.03900 [km2 5 16.55 1.1 17.7
KT : A2 0.00390{km2 6 1052 11 116
r=a/(t"+b) 7 6.68 11 7.7
EARE AR BE 8 425 1.0 53
EREER N 0.687 9 2.70 10 3.7
RS ERa 2541.05 10 1.72 10 27
R E b 9.34 11 1.09 10 2.1

£-2Tr1-r2h0h % 12 069 1.0 1.7

WHAR E B E B Rt 25|53 FRIZHN D KSR YIR
LAA 13 0.44 0.9 1.4
RIEEIZESR 1o 25|% gk ARt by 14 028 99 12
BT 15 0.18 0.9 1.1
BERRIN OB RRAE v 137.6|(mm/h) 16 0.11 0.9 1.0
BAKREE—Y:Q 1.2|(m3/s)  |1/3.6+f-r-A 17 0.07 0.9 0.9
BRETIKTREN.2Q 1.44|(m3/s) 18 0.05 0.8 0.9
19 0.03 0.8 0.9
o~ 20 0.02 038 08
\) 21 0.01 0.8 0.8
22 0.01 0.8 0.8
23 0.00 0.7 0.7

-

CORP. (C)-22

i

F-1 FHFREFEREEEELC
ER:LI2NN C | Eifikm2) i #
Tt 70 | 0.00390 BEHESH 7230 M i) P33
IR0} 290 | 0.03510
K H 100
Bt 200
EHl 70
&t 0.03900
i Y1) 268
SR INN f [ fii &
Tt 1.00 | 0.0039 BAHESH 720 i) P33
it 0.80 [ 0.0351
K H 0.75 | 0.0000
Bl 0.53 | 0.0000
Eh 0.85 [ 0.0000
arat 0.0390
[oRimia] 0.82

F-2 HOKEERME

KAR-11

REOEEHME| RFAE | AYRRERE oms | PUKEIERSR N
(%) ri(mm/h)  |re=fr,(mm/h) re tc(min) & e
1 250 137.6 112.83 0.191 25.07 137.5 0.1
2 25.1 137.4 112.67 0.191 25.07 1375 -0.1
3 25.2 137.2 112.50 0.191 25.07 1375 -0.3
4 25.3 137.0 112.34 0.192 25.2 137.2 -0.2
5 254 136.8 112.18 0.192 25.2 137.2 -0.4
6 255 136.7 112.09 0.192 25.2 137.2 -0.5
7 25.6 136.5 111.93 0.192 25.2 137.2 -0.7
8 25.7 136.3 111.77 0.192 25.2 137.2 -0.9
9 25.8 136.1 111.60 0.192 25.2 137.2 -1.1
10 25.9 135.9 111.44 0.192 25.2 137.2 -1.3
11 26.0 135.8 111.36 0.192 25.2 137.2 -14
=-3 HKRE AIHEFE
t r In Q
" (min) (mm/h) " (mm/h) (m3/s)
1 250 137.6 137.6 137.6 1.2
2 50.0 105.7 2114 73.8 0.7
3 75.0 88.4 265.2 53.8 0.5
4 100.0 77 308.0 42.8 04
5 125.0 68.8 344.0 36.0 0.3
6 150.0 62.6 375.6 31.6 0.3
7 175.0 57.6 403.2 27.6 0.2
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B | RERE | KR E | eessng

T=8ith & ¥R FFHIR wE (min)  [Q1(m3/s)| Q2(m3/s)|a1+Q2(m3/s)
B K AL FWL (m) 0 2459 5.9 30.5
LS EL (m) 1 7.62 5.8 13.4
T=8h KR H=FWL-EL 1.7|(m) 35 30 518 2 2.36 5.8 8.1
HETKE:V 1,260|(m3) 740m2 X 1.7m 3 0.73 5.7 6.4
H K E(Costa): Qp 2459|(m3/s)  |Qp=325(H-V)**? 4 0.23 5.6 5.8
EERE:A 0.23600 [km2 5 0.07 55 5.6
FEKERE:A2 0.00074(km2 B _EEHAI 6 0.02 55 55
r=a/(t"+b) 7 0.01 54 5.4
EARE AR BE 8 0.00 5.3 5.3
R E R n 0.687 9 0.00 53 53
R E R a 2541.05 10 0.00 5.2 5.2
fErRsEE b 9.34 11 0.00 5.1 5.1
DRI R a3 F Ay 12 000] 0] 50
LAA 13 0.00 5.0 5.0

RIEEIZESR 1o asls gk ARt by 4 000  49] 49
HUYIET 15 0.00 48 48

BERRIN OB RRAE v 112.5|(mm/h) 16 0.00 47 4.7
BAKREE—Y:Q 5.9((m3/s) |1/36+fr-A 17 0.00 47 47
BRETIKTREN.2Q 7.08|(m3/s) 18 0.00 46 46
19 0.00 45 45

BE. TFHHATR=HhEHERE 20 000 45 45

21 0.00 44 44

22 0.00 43 43

23 0.00 42 42

24 0.00 42 42

25 0.00 4.1 4.1

26 0.00 40 40

(C) Bt 3h¥BRz SIP4 (C) CORE CORP. (C) E=HfiHtE

KAWBT-18

=1 RHEBFE R ERC
ERCLIEN C Eifit(km2) L
Tt 70 0.00074 AR 7230 R (i 1 P33
L1l 290 | 0.2353
KH 100
Bt 200
E Ml 70
&t 0.2360
firf FP 4 289
St R TE f i i %
Tt 1.00 [ 0.0007 BAHESH 720 i) P33
1L 0.80 | 0.2353
KH 0.75 | 0.0000
Pt 0.53 | 0.0000
E 0.85 | 0.0000
ot 0.2360
fif T8 0.80

F-2 HOKEERR

REDEERRE| SAMEE |AYRRmEE s | PUKELERTR N
(%) ri(mm/h) |re=fr,(mm/h) re tc(min) " e
1 43.0 1125 90.00 0.207 43.54 111.9 0.6
2 431 1124 89.92 0.207 43.54 111.9 0.5
3 43.2 1123 89.84 0.207 43.54 111.9 04
4 433 112.2 89.76 0.207 43.54 111.9 0.3
5 43.4 1121 89.68 0.207 43.54 111.9 0.2
6 435 112.0 89.60 0.207 43.54 111.9 0.1
7 43.6 111.9 89.52 0.207 43.54 111.9 0.0
8 43.7 111.8 89.44 0.207 43.54 111.9 -0.1
9 438 111.7 89.36 0.208 43.75 111.7 0.0
10 439 111.6 89.28 0.208 43.75 111.7 -0.1
11 44.0 111.4 89.12 0.208 43.75 111.7 -0.3
x-3 HKRE AAEHE
t r In Q
" (min) (mm/h) " (mm/h) (m3/s)
1 43.0 1125 1125 1125 5.9
2 86.0 829 165.8 53.3 28
3 129.0 67.7 203.1 37.3 20
4 172.0 58.2 2328 29.7 1.6
5 215.0 515 2575 247 1.3
6 258.0 46.4 278.4 20.9 1.1
7 301.0 425 2975 191 1.0
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